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Bercse TR, PRz , T o0= %« Notice that VYo
The Le.Le.saue. measwe 4 on R/, is T, —invanont .

O Tfove that £ s "Q—excaodt‘c- — XE€Q.

@ Tow thit £ is never _[(—Mt'xfna.

Hint. For @ use L*- Fourver expansion -

Tor @, % «e@, L is NOT even —E(-enaoéfc. ¥ ¢ @, then

dn,—b e st T:‘N id.

Exercise AeM,(Z) and deb Ao Thn Ty (/) — ) -
T (IX3) := [AX)
is o coell-defined surg‘ecln'vc em]omr?kism cohich Preserves
the Lebesaw. measure , i.e. J[('I:1X)= ICAR
Prove thet £ s T\'—erard(c@ no eitameue o Ais a
root of unﬂ:\a.
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